2 4 bk ) e T £ B E3 |

Aot B % THERED AERER (BfR- A 4—0vxy) AR (A 2—OvF DY) N E A&t

o&-£ %Y g100 DP=800 250 DP=800 g100 DP=800

JE £ m 70.0 m 6.0 m 40 m
£ k) f2 K <t & BT &K HE &K B EEy HE £ T
[#a8]~{R#EIB]) (A ~{R#18])
SRR BT As =15m T m 2.00%70.00 140.00 140.00 155.00 |&HEERR G BT
ShEERRUI BT Co =15 m 2.00 X 6.00 12.00 | 2.00 x 4.00 8.00 20.00 23.00
ShEERRIE HITEA As,Con =tompl T m2 | 0.55%70.00 38.50 38.50 46.00 |#BEERRIEHITEA
ShEERRIEHITEA As,Con =lomiEz, m2 0.55%6.00 3.30 | 0.55%4.00 2.20 5.50 7.05
AR IR A A T8 0.28BH | m3 | (1.020-0.05)*0.55%70.00 37.35 | (0.960-0.11)%0.55%6.00 2.81 | (1.020-0.11)%0.55%4.00 2.00 42.16 54.19 |[HEHAEAITEIA
HIBEREL L 0.28BH | m3 [ (0.720%0.55-0.011-0.000)%70.00 26.95 | (0.750%0.55-0.003-0.000)%6.00 2.46 | (0.810%0.55-0.011-0.000)%4.00 1.74 31.15 41.02 |HHIBEREL L
TREERET ARC-40(RC) t=150cm| m2 | 0.55%70.00 38.50 38.50 4600 |[TEBBT t=15cm
LRERRET M-40 t=18cm| m2 0.55%6.00 3.30 | 0.55%4.00 2.200 5.50 6.33 |LERHEET t=18cm
TERET M-40 t=12cm| m2 | 0.55%70.00 38.50 38.50 46.00 |EEBRREET t=12cm
RERT Q@BHIEAs t=8cm | m2 | 0.55%70.00 38.50 | 0.55%6.00 3.30 | 0.55%4.00 2.20 44.00 53.00 [{R¥EIHT t=3cm
5 1&g - 05 4E 45km | m3 | HEHEIRAIx1.2 44.82 | HEABIEHI*1.2 3.37 | HHIEAI*1.2 2.40 50.59 65.02 |FELEME-M5  4.5km
AsFE 4tE 57km | m3 | 0.55%0.05%70.00 1.93 1.93 231 |AsaEll 5.7km
ConkiE MHE 6.5km | m3 0.55%0.11%6 0.36 | 0.55%0.11%4.00 0.24 0.61 0.77 |Conk:Efflt 6.5km
AsBEM ALEE X 2.35 Ast | t 1.93%2.35 454 454 549 |AsEEHM IR
CoBEtf 028 X 2.35 Cotf | t 0.363%2.35 0.85 | 0.242%2.35 0.56 1.41 1.81  |CoBe#faniE
[Z#BA] [##I8])
LRI BT As =15mpl | m 2.0%1.65 3.30 3.30 12.30  |SHEERRUIMT
EHLERR U BT Co =15mpl | m 2.0%2.10 4.20 | 2.00%2.550 5.10 9.30 12.30
ShEERRIE AITEA As,Con =tompt | m2 | (0.55+1.10)%70.00 115.50 | 0.55%6.00 3.30 | 0.55%4.00 2.20 121.00 130.16  |&H%ERRIEHITEA
ShEERRIEAITEA As,Con =lomiEz, m2 1.55%6.00 9.30 | 2.00%4.00 8.00 17.30 18.95
TREEIE WIEMAEL m2 | (0.55+1.10)%70.00 115.50 | (0.55+1.55)%6.00 12.60 | (0.55+2.00)*4.00 10.20 138.30 149.11 | FERIE
REL ZERIEAs t=5cm | m2 (0.55+1.10)%70.00 115.50 115.50 12316 |REBEL t=5cm
EREILZIL EHELLIL t=3cm| m (0.55+1.55)%6.00 12.60 | (0.55+2.00)%4.00 10.20 22.80 2595 |ZTHELSAL  t=8cm
A 8—ByFy {v5—av¥yy  t=8cm| m (0.55+1.55)%6.00 12.60 | (0.55+2.00)*4.00 10.20 22.80 2595 |44 —OyF4t=8cm
AszRIE 4E 4.0km | m2 (0.55%0.03+1.10%0.05)%70.00 5.01 | 0.55%0.03%6.00 0.10 | 0.55%0.03*4 0.07 5.18 551 |AsERiEHR 4.0km
CorkiEHfk 4= m2 1.55%0.11%6.00 1.02 | 2.00%0.11%4.00 0.88 1.90 208 |Cosk:Elfk 4.0km
AsFEALEE X 2.35 Asti t 5.01%2.35 11.77 | 0.10%2.35 0.23 | 0.07%.35 0.16 12.16 12.95 |AsEE#tALIE
CoFEHALIE X 2.35 Cotif t 1.02%2.35 2.40 | 0.880%2.35 2.07 447 4.90
REREET(RARR) P 1&15cm| m
RE#REE TGARR) e 1E30cm| m
XEfREE TR XF 15ecmiBE | m




2 4 b N
Ao X 5 NoO 1R¥%#E NoE 1RiE#E lo.0+10m¥E#R - BAZE (A2 8—OvF2 Y No.0+30miZit - FAZE NoO 2%k FAZ NoE 2R¥EfE-FAZE N E N E
o#&-+#®Y 100 DP=1,200 100 DP=1,200 g100 DP=1,100 100 DP=1200 100 DP=1200 100 DP=1200
13 & m 1.5 m 1.5 m 1.5 m 15 m 1.5 m 15 m
2 i f R o & B CEY HE CEY £ #t HE CEY XE #t HE CE BE £ #
[l ~{R#Ia] [#RHl~FEHIE]
BRI As wismpl T m | 2.0041.50 3.00 | 2.00%1.50 3.00 2.00%1.50 3.00 |2.00%1.50 3.00 [2.00%1.50 3.00 15.00 155.00  |&fi%ehR CIMT
SHEER BT Co 15T m 2.00% 1.50 3.00 3.00 23.00
SR RIBAITHA As,Con iompt T m2 | 1.00%1.50 1.50 | 1.00%1.50 1.50 1.00%1.50 1.50 [1.00%1.50 1.50 1.00%1.50 1.50 7.50 46.00 |FHZARIBHITHA
SHEEMRIREITHA AsCon 1oz m2 1.00%1.55 1.55 1.55 7.05
AR E2 ) 028BH m3 | (1.420-0.05)%1.00%1.50 2.06 | (1.420-0.05)%1.00%1.50 2.06 | (1.260-0.11)%1.00%1.50 1.73 | (1.420-0.05)%1.00%1.50 2.06 |(1.420-0.05)%1.00%1.50 2.06 (1.420-0.05)%1.00%1.50 2.06 1203 5419 |HHIEHITGA
HERL [T} 028BH  m3 | (1.120%100-0.011-0.000%1.50 1.66 | (1.120%1.00-0.011)%1.50 1.66 | (1.050%1.00-0.003)1.50 1.57 | (1.120%1.00-0.011)%1.50 1.66 |(1.120%1.00-0.011)%1.50 1.66 |(1.120%1.00-0.011)%1.50 1.66 987 4102 |HHERL (1T}
TRERET ARC-40(RC) ~ t=15cm m2 | 1.00%1.50 1.50 | 1.00%1.50 1.50 1.00%1.50 1.50 |1.00%1.50 1.50 [1.00%1.50 1.50 7.50 4600 |FEMHAET t=15¢m
LERET M-40 t=18cm m2 0.55%1.5 0.825 0.83 633 |EFEERET t=18cm
EREBRET M-40 t=12cm  m2 | 1.00%1.50 1.50 | 1.00%1.50 1.50 1.00%1.50 1.50 |1.00%1.50 1.50 [1.00%1.50 1.50 7.50 4600 |L/@HAET t=12cm
REIET QFRIEAs t=3cm m2 | 1.00%1.50 1.50 | 1.00%1.50 1.50 | 1.00%1.50 150 | 1.00%1.50 1.50 |1.00%1.50 1.50 [1.00%1.50 1.50 9.00 5300 |{R{EIET t=3cm
LB 05 HE 45km  m3 | HARIEHI.2 247 | HAHIRAI .2 247 | BABIRAI.2 2.08 | HEAHIRAIx1.2 2470 HEHHEH]x1.2 2470 HEHRARHI*1.2 2.470 14.43 6502 |FE+iEif- 05 4.5km
AsHE 4t 57km  m3 | 1.00%0.05%1.50 0.08 | 1.00%0.05%1.50 0.08 1.00%0.05%1.50 0.08 |1.00%0.05%1.50 0.08 |1.00%0.05%1.50 0.08 0.38 231 (AsHREH 5.7km
CoRtiE i 4t 6.5km  m3 1.00%0.11%1.50 0.17 0.17 077 |ConkiEii 6.5km
AsBEH L3R %235 AstR  t | 008%2.35 0.19 | 0.08+2.35 0.19 0.08%2.35 0.19 [0.08+2.35 0.19 0.08%2.35 0.19 0.95 549 |AsBEMILE
CofE 1 4LEE x2.35 Coff t 0.165%2.35 0.40 0.40 181  |CoBe#t L
€3 1)) € 1)
BRI As wismst T m | 2.0041.50 3.00 | 2.00%1.50 3.00 2.00%1.50 3.00 9.00 1230 |SEEAR IR
SR BT Co 15T m 2.000%1.50 3.00 3.00 12.30
SR RIBAITHA As.Con =0T m2 | (1.00+0.65)%1.50 2.48 | (1.00+0.80)*1.50 2.70 | 1.00%1.50 1.50 | (1.00+0.65)%1.50 248 9.16 130.16 | FhE=hRIBHITEA
SHEEIRIREITHA As,Con 1oz m2 1.10%1.50 1.65 1.65 18.95
TREEE WEHLL m2 | (1.00+0.65)%1.50 2.48 | (1.00+0.80)%1.50 270 | (1.00+1.10)%1.50 3.15 | (1.00+0.65)%1.50 2.48 1081 14911 | FEEEE
RET @EHEAs t=5cm | m2 | (1.00+0.65)%1.50 2.48 | (1.00+0.80)%1.50 270 (1.00+0.65)%1.50 2.48 7.66 12316 |RET t=5cm
REL ZHELAIL t=3cm m (1.00+1.10)%1.50 3.15 3.15 2595 |ZEHELAIL  t=3cm
REL Av5—Ov¥ry  t=8cm m (1.00+1.10)%1.50 3.15 3.15 2595 |4A—OvFsi=8cm
AsHE 4t 40km  m2 | (1.00%0.03+0.65%0.05)%1.50 0.09 | (1.00%0.03+0.80%0.05)1.50 0.1 | 1.00%0.03%1.50 0.05 | (1.00%0.03+0.65%0.05)1.50 0.09 0.34 551  |AsERiEH} 4.0km
CoRtiE i 4t m2 1.10%0.11%1.50 0.18 0.18 208 |CoRRiEii 40km
AsBEft ALER %235 At t | 0.09%2.35 0.22 | 0.11%2.35 025 | 0.05%2.35 0.11 | 0.09%2.35 022 0.79 1295 |AsBEATALIR
x235 Colit t 0.18%2.35 0.42 0.42 4.90
s ER #&15cm  m
mE#XEL  180cm m
XF 15cmitE  m




2 4 b+~ L £t I &% i =

A # X % EERUE (AsE) EERUB([(4—AvFUTER) N F

o0&+ % Y 230 DP=600 230 DP=600

i oS m 6.55 m 2.55 m
2 1 B Rt & B g HE Y H= % L
[#EHI~{x{818] [$EHI~{R{EIH]
AR As =ismplF| m | 2.00%6.55 13.10 1310 |EHEERR YT
SRR B Co =15mBlF| m 2.00 X 2.55 5.10 5.10
S IRIEHITRIA As,Con =10mtT| m2 | 0.55%6.55 3.60 3.60 |fMEEMRIEHITEA
SRR EITEA As,Con =10omiBx | m2 0.55%2.55 1.40 1.40
PR HI FEA T 0.28BH | m3 | (0.750-0.05)%0.55%6.55 2.52 | (0.750-0.11)%0.55%2.55 0.90 342 |HWIEAITEA
HEMIBERL LLE 0.28BH = m3 [ (0.450%0.55-0.002-0.000)%6.55 1.61 | (0.540%0.55—0.002—0.000)*2.55 0.75 236 |HEHIERL W&
TERET ARC-40(RC) t=15cm m2 | 0.55%6.55 3.60 360 |TEHRET t=15cm
TRERET ARC-40(RC) m2
LTERET M-40 t=18cm  m2 0.55%2.55 1.40 140 | EERET t=18cm
LERET M-40 t=12cm| m2 | 0.55%6.55 3.60 360 |LEMHET t=12cm
REIBT Q@AHIEAS t=3cm | m2 | 0.55%6.55 3.60 | 0.55%2.55 1.40 500 |[IRIEIET t=3cm
7% L8 - 05 4tE 11.0km | m3 | BEHIEEI*1.2 3.02 | HEMRIEEI*1.2 1.08 410 |BELEH-05 4.5km

AsEHE S ME 40km | m3 | 0.55%0.05%6.55 0.18 0.18  |AsEREHS 5.7km

Co»x@iﬂ&“ 4tE km | m3 0.55%0.11%2.55 0.15 0.15 |Cos&iEll 6.5km
AsBetfA0IE X 2.35 Asti |t | 0.18%2.35 0.42 0.42 AsFWLEE
CoBEtf 8 x 2.35 Colf t 0.154%2.35 0.35 035 |CoBE#tiniz
[x11H] [F1&18]
SRR As =15 T m | 2.00%6.55 13.10 13.10  |EhERRYIET
R IE Co =15m T m 2.000%2.55 5.10 5.10
SRR HIRRIA As,Con t=1omt T m2 | (0.55+0.60)%6.55 7.53 | 0.55%2.55 1.40 893 |SHERRIEAITEIA
S IR HITEA As,Con t=10cm8x M2 0.60%2.55 1.53 1.53
FREREIE WIEMAEL m2 | (0.55+0.60)%6.55 7.53 | (0.55+0.60)*2.55 2.70 1023 |FREEIE
=®EL FHEAsD t=5cm m | (0.55+0.60)*6.55 753 753 |REBI (FEHEAsSWQ t=5cm
EHEEILZIL EHEEILZIL t=3cm | m2 (0.55+0.60) *¥2.55 2.93 293 |ZTEEILEZIL t=3cm
13—0Ovx2 9 A4o8—0Oyx>4y  t=8cm | m2 (0.55+0.60) *2.55 2.93 293 [4rH#—0OvF2Y  t=8cm
AsFRER 4tE 40km | m2 | (0.55%0.03+0.6%0.05)*6.55 0.30 [ 0.55%0.03%6.55 0.11 0.41 Asﬁx@ﬂ& 4.0km
Cork Bk 4tE m2 0.6%0.11%2.55 0.17 017 |CoBxiEffk 6.5km
AsBEtfA0EE x 2.35 Asii t | 0.30%2.35 0.71 | 0.11%2.35 0.26 097 |AsBE#ALIE
CoBEtt 28 X 2.35 Col t 0.17%2.35 0.40 0.40 |CoBE#AniE
REHRHREI(RIUAR) g =g f@15cm| m
XERREICARR) nEA= EiR f@30cm| m
XE#REETCERR) X=F 15cmiiE m




2 4 b+ L x T & it S

At X % HED HIE@ HEQ HIED N E

o#&-+ #®HY g100 DP=1,200 £50 DP=1,100 g100 DP=1,200 £100 DP=1,200

FE £ m 15 m 15 m 15 m 15 m
% kg iR W B HR He CEy BE HR HE N HE £ kg
[#REI~ I ] [4AI~ (R #IH]
R As =15me T m | 2.00%1.50 3.00 2.00%1.50 3.00 | 2.00%1.50 3.00 9.00 |EBEERRYIMT
AR Co =15 T m 2.00x1.50 3.00 3.00
FHLZEARIERITEA As,Con =10t F| m2 | 0.55%1.50 0.83 0.55%1.50 0.83 | 0.55%1.50 0.83 249 |SHEEARIBAITEA
SR HIFEA As,Con t=1oem@x| m2 0.55%1.50 0.83 0.83
HEARIE EI A T 0.28BH | m3 | (1.420-0.05)%0.55%1.50 1.13 | (1.260-0.11)%0.55%1.50 0.95 | (1.420-0.05)%0.55%1.50 1.13 | (1.420-0.05)%0.55%1.50 1.13 434  |HEHIEEITEA
Eﬁmiﬁﬁb Y] 0.28BH m3 | (1.120%0.55-0.011-0.000)%1.50 0.91 | (1.050%0.55-0.003-0.000)*1.50 0.86 | (1.120%0.55-0.011-0.000)%1.50 0.91 | (1.120%0.55-0.011-0.000)*1.50 0.91 3.59 %WEEL 1y
TrERET ARC-40(RC) t=15cm| m2 | 0.55%1.50 0.83 0.55%1.50 0.83 | 0.55%1.50 0.83 249 |TRERET t=15cm
LERET M-40 t=18cm| m2 0.55%1.5 0.83 083 |LER#ET t=18cm
LRERET M-40 t=12cm| m2 | 0.55%1.50 0.83 0.55%1.50 0.83 | 0.55%1.50 0.83 249 | L[ERRAET t=12cm
FEIBT @A EAs t=8cm | m2 | 0.55%1.50 0.83 | 0.55%1.50 0.83 | 0.55%1.50 0.83 | 0.55%1.50 0.83 332 |[REIAT t=3cm
5% LBk -y 4EE 47km | m3 | HEHAREEI*1.2 1.36 | HEHEHRAI*1.2 1.14 | HEARIRAEI*1.2 1.36 | HEHEHRAI*1.2 1.36 521 |FRLiEH-L5 4.7km
AsTRIE 4 5.7km | m3 | 0.55%0.05%1.50 0.04 0.55%0.05%1.50 0.04 | 0.55%0.05%1.50 0.04 012  |AsFRiEik 5.7km
Con%iE it 4E 6.5km | m3 0.55%0.11%1.5 0.09 0.09 [Cos%:Eif 6.5km
AsEM L x2.35 AstR t | 0.04%2.35 0.09 0.04%2.35 0.09 | 0.04%2.35 0.09 027 |AsEMALER
CoE#tLI8 X 2.35 CoBl | t 0.091%2.35 0.21 021 |CoBE#tiniE
RE#REEET(RAhR) hng=t =R §15cm| m
REREEELCERR) hnga=t =R 1§30cm| m
R E#RE%E TR XF 15cmiH | m




